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1| EFHET [2056| N 577| 127627 | ZRMBOIEZDEIE | 160 [23-03 | RAMK KARMEE GE) 672| 1,363.07| 2.03|E@EH
BR L 95 86.80
To 672| 1,363.07
2 | EURET | 2129 N 3,189 195580 | ZZHBDMIEHDAEIR | 170 [97-51D |FHIV Vit 54| A TR (A1) 863 305.33[ 0.35|&@HK
33 L 311 60.44 AI#HLEAR(NL 133 14367 1.08
97-51Q |7hTV <y 54| AT (FI) 298 121.89( 0.41
AI#HLEAR(NL 176 11301 064
97-52 |[FR=Vith 81| AR (51) 40 4052 101
AI#HLEAR(NL 52 11.97| 023
97-55D |FRET Vit 65 A TR (51) 317 206.14| 0.65
AI#HLEAR(NL 781 404.25| 052
97-55Q) |FR=Vith 65| N THRRA1% (31) 743 646.16] 0.87
To| 3500 201624 AI#EAR(NL) 97 2330 024
3 | GEBIET [4160( N 8,790| 360648 | ZZHBDMIEHKDAETA | 180 [138-54D|7HIY < Vith| 50| A THKREK (A1) 2,559 804.69| 0.31|:EFHARERHM
&Lt L 801 125.35 AI#HLEAR(NL 284 5363 0.19
138-54Q| 7HT VY 50 A THRRE{R (51) 577 207.65| 0.36
AI#HLEAR(NL 96 2240 023
138-55 |7HIVIY 50 A THRRE{R (51) 548 19588 0.36
AI#HLEAR(NL 211 107.77| 051
138-571D|FF=Y 50 A THKRE{R (51) 1,207 726.84| 0.60
AI#HLERWL 130 17.89| 0.14
138-57Q|rr=y 50 A THKRE{R (51) 1,592 752.06| 0.47
AI#HLEAR(NL 206 3500 0.17
138-58 [FR=wY 49| N THRE K (F1) 792 37357 047
AI#HLEAR(NL 37 780 o021
138-59 [FR=wY 49| N THRE K (F1) 539 230.09( 043
AI#RERL) 7 140/ 020
138-60 [FR=Y 39| A TR (51) 750 190.62| 0.25
To| 9591| 373183 AI#ERL) 56 454| 008
4 | ERIET | 16.02| N 3124| 1361.95| ZWIIBDIFEHODEIA | 160 [150-55 |[FR<Y 45| AN THRE & (FI) 363 19394 0.53| L@
iR L 306 129.78 AI#ERWL) 17 558| 033
150-56 |[rR=Y 45| N TR (1) 2,755 1,158.40( 0.42
To| 3430| 149173 AI#EAR(NL) 295 13381 045
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5 | ERIET | 2907 N 5654| 2,126.15  ZZLBDIEZROFIE | 170 [174-51D| k<Y 46| N TR (F1) 1,694 695.32| 0.41[/KEHBHRLH
=X L 199 43.08 AIHLEAR(NL 104 2366 023
174-51Q|rr=Y 46| N TR (F1) 1,438 582.19]  0.40
AI#HLEAR(NL 81 1854| 023
174-52 |7HIVIIY 46| N TR (F1) 438 91.35| 0.21
AI#HLEAR(NL 24 2081| 087
174-55 |7HIVIY 45| N T (GE) 2,067 73368 0.35
To| 5853| 216923 AIFRER(L) 7 368| 053
6 | ERBIET [ 3013 N 6,631| 300928 [ ZFBADIEHDHEIE | 170 [184-52 |rRTY 47| A T#RRE R (51) 2,330 104574 0.45|KEEERETH
-x L 561 98.08 AI#EAR(NL) 282 62.97| 022
189-54 |FR=Y 43| AT AR (51) 2,381| 1,01251| 043
AI#RERL) 77 15.03| 0.20
189-56 |kR<Y 43| A THRE K (F1) 1,913 935.53| 049
To| 7192| 3107.36 AI#LERL) 209 3558 0.17
7 | ERBIET | 1430 N 2,552 946.84 | EIBDIEHRDEIE | 160 [198-52 |F7HIJIY 52 A TR (51) 950 32854 0.35| LEFRERHRERH
=X L 554 12314 AI#HLEAR(NL 300 67.60| 023
198-53 |kR=Y 50 A THRRE{R (51) 488 214.60| 044
AI#HLEAR(NL 32 2691 084
198-56 |kR<Y 52 A TR (51) 647 24761| 038
AI#HLERWL 133 17.10)  0.13
198-57 |7AHTYY 52 A TR (51) 463 149.61| 032
To| 3106| 106998 AI#ERL) 93 18.01| 0.19
8 | ERBIET | 4331 N 6,304 4,161.59 | ZZFIHDIEHODHEIA | 180 |202-52 MY 55 A TR (51) 770 45556 0.59|LRFRIBHREERH
=X L 876 287.12 AI#HLEAR(NL 92 3403 037
202-53|kR<Y 54 A TR (51) 442 31418 0.71
AI#HLEAR(NL 35 36.86| 1.05
202-53@Q)| k<Y 54 A TR (51) 1,074 818.11| 0.76
AI#HLEAR(NL 98 8986 0.92
202-54D|kE<Y 54 A TR (51) 1,449 916.88| 0.63
AI#EAR(NL) 226 11592 051
202-54Q) kR 54 A TR (51) 478 219.30| 0.46
AI#EAR(NL) 66 3521 053
202-56D|kE<Y 55 A TR (51) 997 682.89| 0.68
AI#EAR(NL) 190 96.68| 051
202-56Q|kE<Y 55 A TR (51) 574 318.46| 055
AI#EAR(NL) 114 46.12( 040
202-57 |(7HIVTY 55 A T4 (51) 379 184.76]  0.49
To| 7,180| 444871 AI#EAR(NL) 196 8389 043




ARV IRERBEDREBHEMEITAR—AEFHEA

il (— %) MR E

o b [mwm |G| e | it HAR PRSI iR | HE e W%
9 | ERBIET [2033[ N 2078| 236954 ZIMBDIEHDHEIE | 170 (216-52 |rRTY 57| AT #RER () 2,077 236650 1.14|LEFRHERETMH
Cil| L 25 3.02 AIHLEAR(NL 26 6.06| 023
To| 2103| 237256
10 | EBIET [ 4563 N 4139| 478367 | EHEHHEDIFEHZROHEA | 180 |216-55D(FF<Y 56 | A THRRE{R (5E) 1,211 148820 1.23|LEVFRHIAHEZTH
il L 305 91.19 AI#HLEAR(NL 6 0.38| 006
216-55QFR<Y 56 | A THRRE{R (5E) 931| 1,14654| 1.23
AI#HLEAR(NL 9 522| 058
216-56 |FEY 55| A THRRER (5E) 1,993 2,14387[ 1.08
To| 4444| 487486 AI#EAR(NL) 294 90.65| 0.31




